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2-40. See below:

am=3.b=(0,-4)

b.m=—%,b=(0,3)
c.m=0,b=(0,-5)

2-41. See below:
am=-2

b.m=0.5

c. undefined
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2-42. See below:
a. correct
b.7.89 x 104
©.3.15 % 10%
d. correct
2-43. See below:
a4
b. 16
c.y=4xr+16

d. Tt would get steeper.
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2-44. See below:

a. While walking double (or triple) the distance, they would encounter double (or triple) the
number of dogs. If they walked zero blocks, they would encounter zero dogs. The dogs in the
area are evenly spread out along the blocks.

17 dogs x dogs

b. oo = Wi? ; x=36.83 50 37 dogs would be reasonable.

€. % 1.42 dogs per block




